H & 0l & AHS B Ml A

20243 =0llah LB DicisZu  2024-01-02 15:33:33

Gel: FCBa 7= EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Olch=e 1t 28,674,331 18,459,630 10,214,701
= 9,017,298
Jl 76,550
= 5,102,538
Al 14,477,945
Oldi=se 285 Ml 28,639,591 18,427,830 10,211,761
= 9,017,298
) 76,550
= 5,102,538
Al 14,443,205
ZEEYW = 1,927,430 5,454,180 23,526,750
= 937,000
Al 990,430
oS 25 AE 33,180 36,180 /3,000
201 er2 3| 21,800 21,800 0
01 AtR2te|HI 21,800 21,800 0
O+ 16,000
OFLZU HRFA 8,000,000& 8,000
OZHMAl =2 Utg M&
8,000,000& 8,000
O=¢g| 3,000
OFCZd HI2FA 3,000,000 3,000
O=3=+4 2,800
O%NeIRAR =& 2,800,000& 2,800
202 04l 8,380 8,380
01 =LHAHI 8,380 8,380
O=3UH0] 8,380
OFLZd HI2FA 5,880,000& 5,880
OFLZdH LA At 2,500,000& 2,500
301 2EN= 3,000 6,000 23,000
11 dALEEIXIRE S 3,000 3,000 0
OFC2d daX A 3,000,000& 3,000
SHAl AldE NS XIHAY 20,250 18,000 2,250
206 M=l 6.000 6,000 0
01 MZH| 6,000 6,000 0
OAME NS MH=H] 6,000,000& 6,000
301 EtE NS 14,250 12,000 2,250
14 0Bt 2a3 14,250 12,000 2,250
OAMENS 2TAH 14,250,000& 14,250
SAZEHIRHE AMEAI(EX) 1,874,000 0 1,874,000
= 937,000
Al 937,000




FA: DisS
B Dlese 2 D
ool ZESY 3= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 6,000 0 6,000
= 3,000
Al 3,000
01 AlR 21| 6,000 0 6,000
O=AZHISF ABAIY 22
6,000,000& 6,000
= 3,000
Al 3,000
301 22N = 1,868,000 0 1,868,000
= 934,000
Al 934,000
01 A2 HSHS(RNEERTHE) 1,868,000 0 1,868,000
OSAZH2H AlA
1,868,000,000& 1,868,000
= 934,000
Al 934,000
A0IEE 28 € 25 17,845,700 3,352,360 14,493,340
= 7,790,500
= 1,922,250
Al 8,132,950
ADIEY FEEs 2 J|a8d § X (ExX) 270,000 280,000 10,000
= 135,000
= 94,500
Al 40,500
201 er23 | 75,000 180,000 105,000
= 37,500
[ 26,250
Al 11,250
01 At2t2ltl 40,000 20,000 20,000
OADIEE Silde] S2=3 &
40,000,000 40,000
= 20,000
< 14,000
Al 6,000
03 A= EHI 35,000 100,000 65,000
OHaX Ast & f3& 35,000,000& 35,000
= 17,500
S 12,250
Al 5,250
307 glztol & 195,000 60,000 135,000
= 97,500
== 68,250
Al 29,250
02 LB HANHEE 195,000 60,000 135,000
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FA: DisS
33 Did=se 28H M
Sl ADIER 29 U 25 (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXANEH P12 4
5,000,000& 5,000
02 S3=gHl 448,660 339,160 109,500
02323 LAl 241,700
oXIIR= 101,000,000& 101,000
Oa=R=3 31,200,000 31,200
O&JI&H| ¢MAH EH
2,500,000 43 10,000
Ol X AZ2A THIIY (WHL2E)
99,500,000& 99,500
OXte &8y 6,000
O3EXY RF4I 6.,000,000& 6,000
OAIE2ZEH !X 200,960
OR0 XI€ AIAE SX2tel & Mex A
100,960,000& 100,960
0I1H, FII, A%, 25 S NERS
100,000,000 100,000
202 04l 5,500 4,500 1,000
01 =LHN LI 5,500 4,500 1,000
OANIER SAlWY| Q25T
5,500,000& 5,500
206 M=l 9,000 9,000
01 M=4l 9,000 9,000
O&&, JIAH, 8014 T+
9,000,000& 9,000
401 AlEHIZL S0 174,240 778,700 A604,460
01 Al&H| 173,000 774,900 601,900
OL0IES salde] A& e 2 E=3At 173,000
OXIHUE AS3E 23 AHEM)
75,000,000 75,000
O=4 HiY THEBIS AL 40,000,000 40,000
OLHI| QIHE OIHIBEZ S ZEXISA
16,000,000 16,000
o=+ Bi=8Z EXISA
42,000,000& 42,000
03 Al S THYI 1,240 3,800 A2,560
OANIEE SAlde| AlE e & E3At
1,240,000 1,240
405 AHAHE S 11,000 11,000
01 AL =S F = 11,000 11,000
OADIES SAlde| Mata oo 7
11,000,000 11,000
ADIEY Salde| HUAS MHIA XA (EX) 1,311,000 1,311,000 0
= 655,500
S 327,750




FA: DisS
B Dleise 2 D
Ce. AQIEE 29 2 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 327,750
308 AtXIEHMSOIE 1,311,000 1,311,000 0
= 655,500
= 327,750
Al 327,750
18 SIS0t HAS A 1,311,000 1,311,000 0
OANIEE SAlde| 4SXE AblA
1,311,000,000& 1,311,000
= 655,500
= 327,750
Al 327,750
SIGIOIEdIE IOl AMHIA XI& 148,000 592,000 2444000
308 AHAIEMSOIE 148,000 592,000 444,000
07 MXISHHIBE = 148,000 592,000 A444.000
O CI0IEHHIES TIOIE AHIA X2
148,000,000 148,000
NSE3 AU ANEE ZEAH(EXR) 12,600,000 0 12,600,000
= 7,000,000
=S 1,500,000
Al 4,100,000
403 AXIEHHSAH=201H 12,600,000 0 12,600,000
= 7,000,000
= 1,500,000
Al 4,100,000
02 SISO etA=2 A 2 E A I 12,600,000 0 12,600,000
ONASS AUE ADEY X4
12,600,000,000& 12,600,000
= 7,000,000
= 1,500,000
Al 4,100,000
ANEE3 SUHE ANEE ZEAE A0S 2,500,000 2,500,000
401 AlZHIZ SO 2,500,000 2,500,000
01 A28l 2,491,000 2,491,000
OXGS3st AUE ANIEE &MY £
Ol 2,500,000,0002 %99.64% 2,491,000
03 Al< = THHI 9,000 0 9,000
OXZEs dUE AOER MY 22X
oH sl 2,500,000,000& *0.36% 9,000
A0IEY Soldle| 4SS AZAIEHI 300,000 300,000
308 AXIHSO0IA 300,000 300,000
18 SIS0t HAS A 300,000 300,000
OASHX AEAGH (=2 | S)
300,000,000 300,000
Olchsg =4 3,436,941 3,979,674 AB42,733




2A:

OlcH=& ot
=

3 Old=g 385 M1
Cel: Dich=sg |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 160,598
Jl 76,550
= 1,206,3%
Al 1,993,397
detdsged: F=d 1,936 18,974 A 17,038
201 Let=23 | 1,000 18,038 A17,038
01 AtR2te|Hl 1,000 18,038 17,038
O eS| 1,000
ozEdsy gRzd 1,000,000& 1,000
202 04| 936 936
01 =LHOLI 936 936
OB =Y ARET 936,0002 936
Olise |4 & X2 42,760 38,070 4,690
201 er23 | 21,090 16,400 4,690
01 At2teltl 6,470 6,400 70
O eS| 2,000
Olldisg H2Fd 2,000,000 2,000
O=3=+4 1,400
OZHAl 22 RE SZs4Xd 822
3 H&=g 70,0002 x10 #2323 1,400
O=&H| 3,070
Olldisg H2Fd 3,070,000 3,070
02 s3=gHl 4,620 0 4,620
OAEEHIR XU 4,620
OFRQASKZAAE SR
4,620,000 4,620
03 A=Y 10,000 10,000 0
OZZFC MY &t EotsIt WS
5,000,000 22 10,000
202 04| 1,670 1,670
01 2LHA b 1,670 1,670
Olldsg 28 1,670,000& 1,670
402 BIZtAH=01 A 20,000 20,000
01 QI X2 AL E X (KHMITHE) 20,000 20,000
OZZEE E0 sit=2 28 NH
20,000,000 20,000
HEBRI|IsEFH dFHI(ZH)(EX) 2,300 2,360 260
= 690
Al 1,610
201 ger=3| 2,300 2,360 260
s 690
Al 1,610
01 At22t2l] 1,084 1,144 260
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fA: OldisZ o
¥ D=y &2

Cel: Dich=sg |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 =LHOIHI 882 882 0
OS24 NEEH 882,000 882
SISLIM XA (EX) 38,8% 15,811 23,084
= 15,558
Al 23,337
402 QIZEXH2 01 & 38,8% 15,811 23,084
2 15,558
Al 23,337
02 QIZEXH2 AL 2 (01 THE!) 38,8% 15,811 23,084
ORIISAR XA 38,895,000 38,8%
= 15,558
Al 23,337
Zigd satg szl X(2X) 350,532 350,403 129
== 164,956
Al 185,576
308 XIXIEHKI SOl 350,532 350,403 129
= 164,956
Al 185,576
08 WRIIZICHBHE X 350,532 350,403 129
OFEZ S48 8n3A X
350,532,000 350,532
= 164,956
Al 185,576
s PAZA JEAL(EX) 1,621,322 2,116,654 N495,332
== 765,982
Al 855,340
308 XIXIEHKISOIE 1,621,322 2,116,654 N495,332
== 765,982
Al 855,340
08 WRIIZHIHBHE R 1,621,322 2,116,654 N495,332
0sth) PAZA X A
1,621,322,00024 1,621,322
= 765,982
Al 855,340
0121018 XA 50,373 81,000 30,627
307 RI2t0I A 50,373 81,000 30,627
11 AFBI S XA 2 X 50,373 81,000 30,627
OORI0IE JeHd & ZA XY Ar
50,373,002 50,373
A2 BRALS S4 NA(2X)(HEAIY) 30,000 86,400 56,400
= 18,750
Al 11,250
402 QIZERH2 01 & 30,000 86,400 56,400




2A:

OlcH=& ot
=

B Dleise 2 D
Cel: Dich=sg |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 18,750
Al 11,250
02 QI X2 AL EE(0IETHE) 30,000 86,400 /56,400
Oz Edsits SsUdst 4 NZAY
30,000,000& 30,000
= 18,750
Al 11,250
Olgl0ld 2SHI(ZSBASAXE)(EX) 10,957 13,317 A2,360
== 3,287
Al 7,670
307 212+01& 10,957 13,317 2,360
< 3,287
Al 7,670
11 AMEISXAEEE 10,957 13,317 2,360
oojelold zletd & X1
10,957,000& 10,957
= 3,287
Al 7,670
OISSXAE 28X 18,867 17,000 1,867
307 @120l & 18,867 17,000 1,867
11 AMISXAIEEX 18,867 17,000 1,867
OOISSEXAIE 2t & g4 X2
18,867,000& 18,867
Hedsg D=3 B2 7,200 17,280 10,080
= 2,160
Al 5,040
307 elztol & 7,200 17,280 210,080
= 2,160
Al 5,040
02 2IZHBYAIHE A 7,200 17,280 10,080
O Edsg J=Zd:E 25 MY
7,200,000 7,200
== 2,160
Al 5,040
NEHA H =222l AIBAE 30,000 250,000 220,000
= 21,000
== 9,000
307 elzto| & 30,000 150,000 A120,000
= 21,000
[ 9,000
02 2B YA R E £ 30,000 150,000 120,000
OMEL H =22t JIs82 ANEAMY
30,000,000 30,000
= 21,000




2A:

OlcH=& ot
=

B Dleise 2 D
Cel: Dich=sg |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 9,000
PRI HEA XIJ(2X) 220,110 239,450 19,340
= 110,040
= 33,036
Al 77,034
301 EtE NS 80,000 62,000 18,000
= 40,000
= 12,000
Al 28,000
14 DBt 23 80,000 62,000 18,000
OGP 2150 Ot AAHE KNI
80,000,000 80,000
= 40,000
= 12,000
Al 28,000
307 el2to| & 140,110 0 140,110
= 70,040
= 21,036
Al 49,034
05 2IHRIE S 140,110 0 140,110
OOP E2 84 OIFY 24 Al
140,110,000& 140,110
= 70,040
& 21,036
Al 49,034
sSHE 22| (GP)AUSEU MH(EX) 220,880 175,000 45,880
= 61,440
Al 169,440
301 EtE2 NS 45,000 16,000 29,000
=S 22,500
Al 22,500
14 0Bt 2as 45,000 16,000 29,000
OGP QIS AAI XI& AFY
45,000,000 45,000
= 22,500
Al 22,500
307 elztol & 17,280 21,000 A3,720
= 3,840
Al 13,440
02 2B YA R E A 17,280 21,000 A3,720
OGP 0I5 2| MAH 5 N3 At
17,280,000& 17,280
== 3,840
Al 13,440

_11_
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fA: OldisZ o
2

B Dleise 2 D
R SMERS 54 2 243 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 2,323 2,323 0
0234 g2Fd 2,323,000& 2,323
—SS’E—X}% SEUASIX R (MM ZR G (HEAI) (2 160,000 104,000 56,000
S
=S 100,000
Al 60,000
307 21201 & 160,000 104,000 56,000
== 100,000
Al 60,000
02 LB HANHEE 160,000 104,000 56,000
OMAT ZX3 U SBOBIE 243 A
160,000,000 160,000
= 100,000
Al 60,000
Site SSHY NEMH SSAL(HEA)(EX) 240,000 240,000 0
= 200,000
Al 40,000
307 @I2t01 & 240,000 240,000 0
== 200,000
Al 40,000
02 LB HAHE L 240,000 240,000 0
Osits S8 XSHAH =23 At
240,000,000 240,000
= 200,000
Al 40,000
SN2 SSE0 EUXIFME(EX) 30,400 75,400 45,000
= 15,200
= 4,560
Al 10,640
307 elztol & 30,400 75,400 /45,000
= 15,200
& 4,560
Al 10,640
02 2B A HE L 30,400 75,400 /45,000
OsiE BSEGH &0 X ALY
30,400,000& 30,400
= 15,200
< 4,560
Al 10,640
SENESEFMASANA(SABIISASE ) (HEA 210,000 0 210,000
2)(2%)
= 150,000
Al 60,000
402 2IZtA=01d 210,000 0 210,000




fA: OldisZ o
2

B Dleise 2 D
R SMERS 54 2 243 EEREE)
M- B SRASH) - HRAR - B2 of v e HIDE2
< 150,000
Al 60,000
02 QI X2 AL EE (0 210,000 0 210,000
Os43)
210,000,000& 210,000
= 150,000
Al 60,000
EN SO ASRIH (HACCPH & E ) (R EALY ) (B X) 2,800 0 2,800
== 2,000
Al 800
307 212+01& 1,400 0 1,400
< 1,000
Al 400
02 LB HAHE L 1,400 0 1,400
O=21371g HAC
1,400,000& 1,400
= 1,000
Al 400
402 2IZHA+= 1,400 0 1,400
== 1,000
Al 400
02 BRI ZAEEE(0 1,400 0 1,400
(ENSE=S)
1,400,000 1,400
S 1,000
Al 400
tE S| 2E5 ) (2x) 206,038 272,300 A\B6,262
= 121,609
Al 84,429
402 BIZHA+= 206,038 272,300 66,262
s 121,609
Al 84,429
02 SItXt= AL 2 206,038 272,300 66,262
Ostite 25 2835 JE MY
206,038,000 206,038
< 121,609
Al 84,429
&e 483t 0 AR (2X) 432,000 1,008,000 576,000
= 320,000
Al 112,000
402 BIZHA+= 432,000 1,008,000 /576,000
=S 320,000
Al 112,000
02 RIENEASEZ(0IETHR) 432,000 1,008,000 /576,000
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B Dleise 2 D
R SMERS 54 2 243 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsitE o33 J|g= HIg K&
432,000,000& 432,000
= 320,000
Al 112,000
HAlls&ES AIZEH XA (HEALY) 838,600 704,400 134,200
== 419,300
Al 419,300
402 2I2E X201 & 838,600 704,400 134,200
[ 419,300
Al 419,300
02 QI X2 AL EE(OIHTHE) 838,600 704,400 134,200
OZllsdt= AlE - Sl XI&E At
838,600,000& 838,600
= 419,300
Al 419,300
SEiBE 82 =258 |4 N2 Arg 261,000 261,000
307 @I2to| & 161,000 161,000
02 QB HANEE R 161,000 161,000
O2lstts SHXA & Eotd ALt
OFAE HIE K& At 161,000,000 161,000
402 QIF X201 & 100,000 100,000
01 QI X2 AL E A (KHHITHE) 100,000 100,000
OSE0PRIE d=xMFsd 28 X3 A
& 100,000,000 100,000
HSAE DBHE 43 XY ML (HEAI)(EX) 40,000 80,000 40,000
S 25,000
Al 15,000
308 AtXIEMSOIE 40,000 80,000 /40,000
== 25,000
Al 15,000
13 S [2S0He 4 A AS A 40,000 80,000 240,000
OHSAE BIE 243t XA
40,000,000 40,000
= 25,000
Al 15,000
Lol AHIEE XZA(EX) 18,000 23,000 25,000
= 5,400
Al 12,600
307 @120l & 18,000 23,000 /5,000
== 5,400
Al 12,600
02 LB HANHEE 18,000 23,000 25,000
O=cle AHIFEN NFAL
18,000,000 18,000
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2A:

M Qs A HD
el SAZEQE SA o 243 (cHol: 22)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OGP 2IMAIE B2 XA
190,000,000& 190,000
= 114,000
= 22,800
Al 53,200
SSlES 6xHAIs AR (ZHALIZ T2 R E ] 200,000 200,000
SIAI) (B ) (DI2E-Z AL (M EHALY)
& 100,000
Al 100,000
307 212+01™ 200,000 200,000
T 100,000
Al 100,000
02 QIZHA A AL E & 200,000 200,000
OS3ES XS XIRAAFE (S/WE0E)
200,000,000& 200,000
= 100,000
Al 100,000
S3ES 6 N2AM (ZHAIB YIS E AN 420,000 420,000
SIAF) (B2 ) (RIZERHE ) (B BHALY)
& 300,000
Al 120,000
402 QI R=01H 420,000 420,000
& 300,000
Al 120,000
02 QIZIXEAMEEE(OIXTHS) 420,000 420,000
O 2144 HEANE 2F(24R)
210,000,000& 210,000
T 150,000
Al 60,000
OIH0IT - HES MAAIE RH(14EX)
210,000,000& 210,000
T 150,000
Al 60,000
S0HE JilsatE OHBIE XIZ AL 30,000 30,000
307 QIZ2t01 A 30,000 30,000
02 QIZHBAAIEER 30,000 30,000
OSE0HE JAllssE 210 - 28 NFA
A 30,000,000 30,000
2HA s2E7S 8H3E st ADE AC =4 EtE 22,000 22,000
o oipgo
207 AN 22,000 22,000
NEEEET] 22,000 22,000
O SURE BHSIE SIS ADE A
A EYH HAREY 22,000,000 22,000
SAEIIY =2 MEOIH XA 59,94 59,94
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B Dleise 2 D
R SMERS 54 2 243 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 17,963
Al 42,031
307 lztol & 59,9%4 0 59,9%4
= 17,963
Al 42,031
02 2IZHBYAIHE X 59,9%4 0 59,9%4
OsA3)IE =& MEOI™ XA
59,994,000 59,994
=S 17,963
Al 42,031
dsdE =2 e 2etAkg 196,000 0 196,000
< 58,800
Al 137,200
307 elztol & 196,000 0 196,000
= 58,800
Al 137,200
02 2IZHBHAIAE & 196,000 0 196,000
OtldsttE =8 NHdsE ety
196,000,000 196,000
= 58,800
Al 137,200
HHel d=g K& 1,702,110 1,642,905 59,205
[ 84,160
Al 1,617,950
ANEH SsEHE |4 KB 707,549 713,100 25,551
201 er2 3| 103,200 456,470 353,270
01 At2tlt] 102,000 456,470 N354,470
O +=ZH| 100,500
oXEH 828 sStt= HH
100,000,000 100,000
OXEH SSEUE 222 MA
500,000 500
O2g=+< 1,500
OXEH ZSEHE A2 RIS ¢
1,500,000 1,500
02 S3=gHl 1,200 0 1,200
OX8d Ss2dE M2 3323 € Xl
Al 1,200,000& 1,200
301 LELEE S 800 800
14 JIEt2d= 800 800
ONEH SSEHE d2T AL B 4] &
Aea 80,0002 800
308 AXIHSOIA 308,434 308,434
18 SIS0t HAS A 308,434 308,434
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S DS Dt
Ha: Olf=el 2 ML

Chel: 9del d=& XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=S42 210990~ =&
72,200,000& 72,200
OXBH SSEdE XAl 88
36,234,00024 3,234
ONEH DESUC 252 22
200,000,000 200,000
402 QI”F X201 & 295,115 256,630 38,485
01 QI X2 AL E R (KEMITHE) 295,115 256,630 38,485
OXg8d Ss=2e 23 K&
295,115,000& 295,115
sS4 Hd 243 K& 136,500 95,640 40,860
201 fer= 3| 127,000 87,000 40,000
03 A= 127,000 87,000 40,000
OsSS&= JAIE0 A XIS
30,000,002 30,000
ORI TAl SSA2 ZRIE0 S
NONE=! 57,000,000 57,000
OXIGEN SSA2 SN 29
40,000,000 40,000
202 04| 1,500 640 860
01 =LHOHI 1,500 640 860
OS82 JAEIHEA &4
1,500,000 1,500
301 EtE NS 8,000 8,000
11 dALEEIXIZE S 8,000 8,000
OHANZHSH Bl2L 8,000,000& 8,000
sHE Vaal 0BIE XA (EX) 24,000 36,000 A12,000
= 8,000
Al 16,000
307 @120l & 24,000 36,000 212,000
== 8,000
Al 16,000
02 LB HAHEE 24,000 36,000 A12,000
Ozt WVEaAE OBIE XE At
24,000,000 24,000
= 8,000
Al 16,000
SSHE QHUE SN (EX) 65,400 46,500 18,900
= 26,160
Al 39,240
307 @20l & 65,400 46,500 18,900
s 26,160
Al 39,240
02 LB AANHEE 65,400 46,500 18,900
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OlcH=& ot

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsSit= AHAEI 243 Al
65,400,000& 65,400
= 26,160
Al 39,240
ANl = OSsiE=58e £ 8,000 8,000
307 @12t0| & 8,000 8,000
02 QB HANEER 8,000 8,000
Od= 25=its 83 5 N2
8,000,000 8,000
fclsSexE As 8,000 5,485 2,515
201 er23| 5,500 4,000 1,500
01 At2teltl 5,500 4,000 1,500
O+ 3,000
O NATFE g2
3,000,000 3,000
O=EH| 2,500
OZHIXNATFE 2=
2,500,000& 2,500
202 04l 2,500 1,485 1,015
01 =LHNHI 2,500 1,485 1,015
OHHZXETFE &2 F4
2,500,000 2,500
ZAAI Hoel & SHoIH 7= 138,861 134,420 4,441
101 ©1AH| 110,901 107,120 3,781
M ORNZZ2NSE S 110,901 107,120 3,781
OS2I M XA 21AH|
110,900,800 110,901
201 er23 | 7,960 7,300 660
01 At2teltl 7,960 7,300 660
OsZIEH d==X2A =8 25 7Y
4,000,000 4,000
OZHAl Bl & 2U0Ie AIAE 2K
2| 3,960,000& 3,960
207 ARl 20,000 20,000
01 H2E4HI 20,000 20,000
OZHAl 2el & 4U0le 5 S48
A 20,000,000 20,000
sSitE E2THE =24 448,800 239,460 209,340
101 @124H| 223,300 101,580 121,720
04 JIZtNZ22 NS+ 223,300 101,580 121,720
OsSttE S2EIE 28 22|
223,300,000& 223,300
201 223 185,500 137,880 47,620
01 At22t2lt] 125,500 76,000 49,500
Ot~ 77,000
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OlcH=& ot
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3 Old=g 385 M1
Chel: 9del d=& XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsStte E2HE 24
19,000,000 19,000
O2ctol TS HOIAL & T2 H Y]
= 50,000,000& 50,000
O=ctQl EHHY 2tA 2¢ 5,000,000 5,000
OtldsatE &F 7 3,000,000& 3,000
OZx= 28,500
O=sSte s2THiHE (20 - 2NS) &
Xt 28,500,000 28,500
o229 20,000
OXg&= SHOIK 724
20,000,000 20,000
02 S3=4gHl 60,000 11,880 48,120
O=5=3H 60,000
O=2ctol S| 30,000,000& 30,000
OsStts E2Eiid =24
30,000,000 30,000
401 Al HIZL 201 20,000 20,000
01 Al&H| 20,000 20,000
OSE2EHY HIIAE & cl2ed
20,000,000& 20,000
405 AtatsE = 20,000 20,000
01 M ESFH S| 20,000 20,000
OSEEHE 25 7S (00, Z200AS
ol HIATH, H&E 1D §) 20,000,000 20,000
Nocte ZEZel 29 AJ(AA - SH 22) (A 100,000 200,000 100,000
) (ExX)
= 50,000
Al 50,000
201 er2 3| 46,120 0 46,120
= 23,060
Al 23,060
01 AtR2t2|HI 14,120 0 14,120
OZH 22FE USHE s2HE= MY
10,000,000& 10,000
== 5,000
Al 5,000
OZH 2ZFE SHE Bl MY
4,120,000& 4,120
= 2,060
Al 2,060
03 A= 32,000 0 32,000
O] YA} - AHIA T - IS
DES| 30,000,000& 30,000
< 15,000




FA: DisS
33 =g 28H M
2l el d=8 KA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 15,000
OZHAl EHHC| NS MEEIE ZHS| Y
ks 2,000,000& 2,000
[ 1,000
Al 1,000
301 EtE NS 18,000 35,000 A17,000
= 9,000
Al 9,000
11 #AIAMHIXIZ S 15,000 35,000 220,000
OZHAl EHHE NS AMEEE 2
15,000,000 15,000
s 7,500
Al 7,500
14 JIEt2 8= 3,000 0 3,000
OZHAl dEHH| NS AEEE Zai=
3,000,000& 3,000
= 1,500
Al 1,500
307 gl2to| & 35,880 165,000 A129,120
=S 17,940
Al 17,940
05 eit?(& = 35,880 165,000 A129,120
023Y Eoi=M2 OHFE 2N HIB
35,880,000 35,880
< 17,940
Al 17,940
324 & ZHFEE AUASS THHH XA 50,000 50,000 0
402 Q124X+ 0| 50,000 50,000
01 PIIXH2 AN 2 (R T 50,000 50,000
02224 Y 2UTC ARES WK
50,000,000 50,000
sSS42 AHAHEH N (2HAFRH) 15,000 15,000 0
307 @I2t01 & 15,000 15,000
02 LB AANHEE 15,000 15,000
OsSetE & N2
15,000,000 15,000
HH2LZH(DlH=S ) 34,740 31,800 2,940
Jl2ZHl(0li=1) 34,740 31,800 2,940
Jl22H(Dli =g ) 34,740 31,800 2,940
201 fer= 3| 7,140 0 7,140
01 At 2|l 7,140 0 7,140
OAQIEE SA%a| UK g
60,0002 *119& 7,140
202 04l 24,000 27,600 23,600
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el

OlcHs< ot
HHSHAHI(0lH=sE )
JI=2ZHI(0lesS D)

S - BE - B9I(3H) - NRAY - BES

ofl &t A DS
01 =LHAHI 24,000 27,600 A3,600
OSEEZ0LI 100,000& x20E « 12 24,000
203 gR=| 3,600 4,200 2600
MU A2 LRSI 3,600 4,200 A600
O0d=e 300,000 * 12 3,600
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